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A,Iqye. any five qu.estions
AII iqt6stions 

:a::y,g4iral 
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Time: 3 hours

i.a) Two points are flxed and 100 mm apart. Draw the locus of a point in such a
n-ranner tl-rat the difl-erence of its distance lrom the points is 75 rnin. Name the

curve.

,b) An area of L44 sq.crll on d mup |cprcsents an lrrea ol'36 sq.krn on the field. Find
the RF of the scale, and draw a diagonal scale to show kilometers, hectameters
and decameters and to measure upto l0 km. Mark a length of 7 km 5 hm and

6 dm on the scale. [7+8]

Max Marks:75

5.

OR
A point.P is".30 mm and.5O".mm respectively"'from two spqghJ lines which,Ta. at

right anliltjs:to each othiji.,Draw a rectangiil.ar hyperbola.ficim P within,.I{tr'ram
distance fiom each Iine.
The vertex of a hyperbola is 6-5 mm from its focus. Draw the curve if the

eccentricity is 312. Draw a normal and a tangent at a point on the curve, 75 mm
from the directrix. [7+8]

A line eQ liz,s its end projectors 50 rnm apari, The front and top vrews of the line
are 55 mm and 65 mm long, respectively. lf the end P is l5 mm above the H.P.
and 25 mm in fl'ont of the V.P., draw'the pro.iections olthe line. Determine its true
length and inclinations with the principal planes.

OR
tlsl

A circuiar,larnina of 50 mrn cliarneter is Lnclined at .15') to the VP. One ol its
diameters ii inclined at 450 io the HP and 300 to the VP. Draw the pro.jections of
the lamina. t15l

A triangular prism, having a base with a 70 mm edge and 60 mm height, stands on

its triangular face on the ground with one ol its rectangular laces perpendicular to

the V.P. It'is'cut by an A,I.P. such that the true shape of the section is a trapezium
llith l0 mm and 50 mm parrtllel side' Drarv its prtlcctions and prolect true Shupe

of section. tlsl
OR

A hexagonal prism, having a base with 30 mm side and a 70 mm iong axis, has

its face on the H.P. and the axis parallei to V.P. It is cut by a plane, the H.T. of
which m4ke.1 an angle of 450 with the ref'erence line brsecting the axrs. Draw the

sectional front view and true shape of the section. tlsl
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A cylinder of 90 mm diameter resting with its base on ground is penetrated by
another".oylihder of 50,.ihiii,diameter. Th6"."axis of the,..ilei{etrating cylirider,is
parallel''to:the vP and'l2:mrn in front of ltii,e axis of the verticar Jyunaei.: rhe
plane passing through the axis of the penetrating cylinder bisecting the axis of the
vertical cylinder is at 60 degrees angle. Draw the front and top views showing the
curves of intersection. t 151

OR
8. A cube of ,40 mm edge stands on one of its,faces on the ground with one of rhe

vertical faces inclin e{ at 4,50 to VP. A through hole of diarfeter 20 mm is made in
the object. The axis of the hole is perpendicular to the VP and intersects the axis
of the cube at right angles to it. Draw the development of the lateral surfaces of
the cube. [1s]

9. A cvlindrical slab having 75 tnr-n as diarneter"and 45 mnr thickness is surnrounred
bv a cube of edge 38 mm. On the top ol the'cube rests a square pyramid oi
altitude of 38 rrm and side of base 2-5 mrl. T'he axes of the solids are in the same
straight line. Draw the isometJic projections. ttsl

OR
A hexagonal prism of 25 mrn side of baseand axis 60 TB,is,lying on oneof its
rectangtil^ar"faces with ttiii'65se perpendiiulh"r.to GP and,irrdlined to pp at.360. a
corner of the base touches the PP. Draw the perspective view of the prism when
the station point is 60 mm from picture plane and 75 mm above the ground and
lies in the central plane which passes through the midpoint of the axis of the
prism. tlsl
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